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context discuss briefly how Ryle would explain the
distinction between voluntary action and involuntary
action. 2+9+4=15
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Why does Ryle hold that other minds cannot be known
through inference? Discuss critically. How would Ryle
explain the knowledge of other minds? Do you find
Ryle’s view acceptable? Discuss. 8+4+3=15
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Answer any two questions.

Explain the notion of category mistake following Ryle.
What are the causes that led Descartes to commit
category mistake? Answer after Ryle. Do you find Ryle’s
view acceptable? 5+7+3=15
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How does the intellectualist legend explain intelligent
behaviour? Discuss Ryle’s arguments against this
explanation. Give your observations on Ryle’s
arguments. 2+10+3=15
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Why is will admitted in the official doctrine? What are

Ryle’s arguments against the admission of will? In this
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